H & 0l & AHS B Ml A

SA-3Y - SA(SAH) - MRAY - B Off &4 & A BlunsZ
SHEXIE 0t 61,185,116 62,247,616 /1,062,500
= 3,800 3,800 0
== 174,427 57,027 117,400
Al 61,006,889 62,186,789 1,179,900
ZEAEHE 9,399,123 9,911,449 A512,326
= 3,800 3,800 0
= 174,427 57,027 117,400
Al 9,220,8% 9,850,622 N629,726
HEMHIA MS 9,296,923 9,879,249 N582,326
= 3,800 3,800 0
== 104,427 57,027 47,400
Al 9,188,6% 9,818,422 N629,726
RIEE AIFFZ 264,670 268,670 24,000
202 044l 15,000 19,000 24,000
04 =XI=toI] 0 4,000 24,000
OANEZ=82ls| 88X AS 0 4,000 24,000
DA RH =& 200,344 220,000 19,656
201 LBt 170,000 186,656 16,656
02 S3=24l 0 16,656 N16,656
OLESAEI 2N SHHES AIE= 0 16,656 N16,656
301 2N = 2,000 5,000 A3,000
14 JIEtE &S 2,000 5,000 A3,000
OLISAIEIIR A OLOICI B2H 2,000 5,000 A3,000
HIUY RFA 7,267 13,700 26,433
201 Zet23 ] 6,700 11,700 /5,000
01 AtR2telbl 4,000 9,000 25,000
OX=dE 234 M 0 5,000 25,000
303 Z&af= 567 2,000 1,433
01 Z&=s 567 2,000 A1,433
OXIAHE Atcll SR 24 567 2,000 A1,433
HHEY Hd 15,000 30,000 15,000
301 22N = 15,000 30,000 15,000
14 J|EtE &S 15,000 30,000 /15,000
O&Edtdgdd= 15,000 30,000 A15,000
SRE U=2Y 723,828 800,000 NT6,172
201 ZEet23 ] 180,000 200,000 /20,000
01 AtR2telbl 180,000 200,000 /20,000
O32¥ AENSH(ZHEY) 180,000 200,000 220,000
202 04| 543,828 600,000 A5G, 172
04 =XlI=toib] 73,828 80,000 N6, 172
OFJIushE A= 73,828 80,000 NGB, 172
oA 2IHIE 65,828 72,000 NG 172
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05 BF& W0 470,000 520,000 50,000
OZ2¥ DNNH(SUHY) 470,000 520,000 /50,000
ASIEHHI S ALK 396,780 451,780 /55,000
= 5,000 5,000 0
Al 391,780 446,780 55,000
307 212+01™ 195,890 250,890 A55,000
== 5,000 5,000 0
Al 190,890 245,890 A55,000
04 QIZFHAIAIE B = 40,500 95,500 255,000
O2UMAl O] - ST ATS 0 30,000 30,000
OSEAL ZHIAH(AMA N E2S2R) 0 25,000 A25,000
eIA2 S 477,104 545,156 68,052
201 L2 116,600 119,600 23,000
01 AFR2t2ltl 116,600 119,600 A3,000
OHERA =& 45,000 48,000 A3,000
307 212+01™ 281,782 344,334 A62,552
07 H2=3Xl=S= 281,782 344,334 A62,552
OME XIS 228,742 283,784 N55,042
OEXZ(aReE ) 53,040 60,550 A7,510
39 HES 0 2,500 A2,500
2 SREHSSHIYHES 0 2,500 /2,500
O=1UHe s B2 0 2,500 A2,500
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OJIZtHZ22 X SHHaeiEE 117,100 130,000 212,900
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02 MAHHZHI 80,000 88,000 /8,000
OZ3& EHO0IX & 2J2e|AIAE 2= 80,000 88,000 /8,000
401 AlZHIZ 2018 68,340 75,000 26,660
01 AlZHI 68,340 75,000 26,660
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2 QISP ES243 60,000 0 60,000
Ot s8R (FIHENUAEHY) 60,000 0 60,000
& 60,000 0 60,000
2ot=s 2901 =4 6,246,055 6,492,871 A\246,816
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HE2Y=T 5,591,369 5,819,711 N228,342
201 Ler2aY| 4,899,250 4,969,250 A70,000
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O2J & /A5 dEu= 7,000 22,000 A15,000
OAst NY2s 2S et 2882
200,000 *80 16,000 30,000 A14,000
O (22X A L2 H) 29 18,000 20,000 22,000
2 s==3tl 1,000 2,000 1,000
OlAg® gda7d 52 2zt N
500,000 *22 1,000 2,000 21,000
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01 At 2teltl 5,600 14,600 9,000
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202 Ot 67,913 70,750 N2,837
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O324 & /35 =& 3,413 6,250 N2,837
FXXIME 29 833,437 882,540 A49,108
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SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
OAIZt2I 22+ 407,521 507,521 100,000
0ARE 179,472 279,472 100,000
WM H=RE=S 24,307,847 24,481,588 AT73,741
02 =0IALEE= 4,166,792 4,340,533 A173,741
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0ER¥ 3,697,649 3,847,649 150,000
O RALSFES 469,143 402,884 N23,741
08RE 469,143 492,884 A23,741
=&l 208,945 210,625 1,680
Jl=&H| 208,945 210,625 1,680
202 044l 0 1,680 21,680
01 =LA LI 0 1,680 1,680
OFEIZE WF0H 0 1,680 1,680




